F 0.1

R PART No. TYPE NOTE T T 0.53ms
HDR-EA ( ) LFYPGI-SLD4|[ SCREW LOCK TYPE | ——— POS. #n/2+1
[;. HDR-EA ( ) LFYPGI-SLE+| SPRING LOCK TYPE(6.6)] ———— 2 -
g - HDR-EA () LFYPGT-SLF+| SCREW LOCK (PANEL 0.9) | SEE NOTE. 44 ™ _<’>_ =
< HDR-EA ( ) LFYPGI-SLG+| SCREW LOCK (PANEL 1.2) | SEE NOTE. #4 N | 16 QG
- 5 HDR-EA () LFYPGI-SLK+| SPRING LOCK TYPE(3.3)] ——— + ] © b=
© LOCK SCREWS |
- 2-02. 3005 Eso A
™ U] ]] B VY 2—-@ 1 .80 Bto.1 ol <
© | glf - T ) 7;~ 310.15 Gto.1 310.15 o
© 0 “
- © RECOMMENDED P. C.B. LAYOUT
SPRING LOCK SCREW LOCK SCREW LOCK
Bo.1 TYPE TYPE M2X0.4 TYPE M2x0.4 1.CONTACT PLATING
Dxo.1 PANEL MOUNT MATING AREA
0.76 MICRO METERS MINIMUM GOLD PLATING
POS. #n/2 0 80.08 POS#. 1 TERMINATION AREA
il 0.05 MICRO METERS MINIMUM GOLD PLATING
‘ H
25 : [j___ =10 kS ::w il UNDERPLATING:NICKEL PLATING 1.3um MIN.
O @ - e — C—t= 2 .MATING C(O)NNECTOR
M2X0 . 4 S p % /F i HOR—E ( ) MAGH
4 @1.1%0.1 B FLAT v slRFAcE = DR-E ( ) MAGT+
POS#. n Ceo. POS. #n/2+] B1.7*8.0s z et woreos o 3. SPECIF ICATION
= o 4 2 2 RATED CURRENT 0.5A
o o RATED VOLTAGE 125V AC (r. m. s.)
S j; S 4.TWO LOCK SCREWS ARE
1 —_ SUPPLIED WITH A CONNECTOR,

@ 5.THE DIMENSION OF PIN TAIL' S LOWER SURFACE TO
?ﬁg)'?ci??g,\‘ — \ DETUM "H " SURFACE: 0.00 TO 0.10.
( ' DD

S THE CONECTOR SHOULD BE ON FLAT FIXTURE SURFACE
077 1. T#o.15 077 1 e - A e 7 WHEN THE DIMENSIONS ARE MEASURED.
%—'& 1l
LO - - >
VEAR (2007)— | =75 ! == 1 | , //%
N 5 g 2 i o = === N LLLLZL 8 [LOCK SCREW STEEL 2 | NIeKkEL pLATING | ———
H | | |
MONTH Lo b} . == ' BRASS 26
(0.2 3 P ! -@- 1, Te0.2 _/ 7 |HEX. NUT BRASS 20p0s-| D | NICKEL PLATING | M2X0 . 4
c 9 XY D) | o, 5 51018 10.5 REF. i slreEF. A 6 |[EARTH PLATE [BHISCHORN o Fyicker puativg| ———
g; N‘WP—O-S #n/E_HH ‘ l ! 5 |SQR. NUT BRASS 2 | NICKEL PLATING | M2x0.4
© i CONTACT DETAIL (5/1) - uLsav-0
_ POS. #n/2+1 POS. #1 4 INSULATOR B |PPS (GF) 1 BLACK
A 3 |CONTACT PHOSPHOR 1 |SEE NOTE #1
POS. #n 0.2~0.25 0.635¢0.08 BRONZE
= os A 2 |SHELL STEEL 1| NICKEL PLATING
A 3532 KMistake | _INSULATOR A EEBTRR0s 1 | ——— | oiice |
LTR.|\DATE | BY REV. DESCRIPT No. PART NAME MATERIAL [QTY FINISH NOTE
DATE SCALE UNIT
sut.r2oom| 2 ¢ 1| mm(inei) (3RO A-PIORRTEERE L oNDA TSUSHIN KOGYO CO.. LTD.
HDR-EA2BLFYPGI ( )+ | 26 |24.8|19.2]13.6|0.8x12=9.6| 14 |15.475|23.8 APP. DATEEREV.
s o5 DR. DE. CHK. | cHk. | app. N AME 0.8mm SPACING
HDR-EATALFYPG1 ( )+ 14 20 |14.41 8.8 ] 0.8x6=4.8 | 9.2 : 19 . - RIGHTANGLE FEMALE CONNECTOR
n o | A B C D E F G W AN N REV)
PART NO. 0 P05, STMENS [ONS %N\@\ cﬁ\\% O 36 PART NO. | HDR-EA ( ) LFYPGT ( )+

ID= HDR-EA@LFYPG1-@+ EA




